
Question au programme : 

Les années Roosevelt aux États-Unis (1932-1945)  

Sujet de leçon : 

Discuss the following statement. 

 

“Most obviously, the liberalization of the Democratic Party under Roosevelt and 
the New Deal realignment led to the development of a modern welfare state and 
a transition from legislative to executive-oriented legislation.”  

 

                Sidney M. Milkis, “Roosevelt and the Transcendence of Partisan Politics”, Political 
Science Quarterly, Vol. 100, No. 3 Autumn 1985, p. 498.  

 


